Maximum Tightening Torques

M8 (8.8) 25 Nm

M12 (8.8) 85 Nm

Confidential

NO.| PART NUMBER DESCRIPTION QTy. This ooumentss Fomastt oo O e concition ot and ubject
he obligati f th ipi ki hy fidentiality of i .
1| TYM101.000.001 Skid plate 1 Copying transfor of distribution of this document or its contents and the use
5 TYM107.010.000 Bracket 1 of it not for the purpose intended-are strictly forbidden.
3 | ISM33.000.003 Spacer Nut M8 L=250 2 NAME | SIGN. DATE | Drawing number Product Description
4 8543 Spacer 1/2" =86 mm 1 CHG. David 11.06.17
5 10858 Pocket Washer 8 6 Town  ISiava 211116 TYM107.000.000 Vehicle Manufacturer Toyota
6 1168 Hex Bolt M8x25 DIN 933 6 ' S 7/ B P PSPy ey e e Vehicle Model Hilux
7 1209 Hex Bolt M8x30 DIN 933 2 | PN | David | \ 2 [12.06.17 g deserp Vehicle Version Pick-Up
8 1013 Hex Bolt M12x1.75x120 DIN 931 1 |conrrM| Dani 7 Transfer/Gear vin MROKB3CD200500774
9 3005 Hex Nut Nylock M8 DIN 985 2 skid plate v g 5018
10 3001 Hex Nut Nylock M12x1.75 DIN 985 1 Catal 5 ear of Production _
I 8003 Washer 8x20 DIN 125 | ASFIR LTD. | 5330 Gear Shift Automatic / Manual
12 6039 Washer 12x37 DIN 9021 2 * Motor Model Diesel 2.4L Turbo
13 6001 Spring washer 8 DIN 127 6 Weight kg 14.5 [Sheet [Sheets 1| Transmission 4X4




	Sheet1
	Drawing View3


